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SOCIOLOGY

[HONOURS]
Paper : 1
Full Marks : 100 Time : 4 Hours
The figures in the right-hand margin indicate marks.
Candidates are required to give their answers in

their own words as far as practicable.

GROUP-A
Rel - 3
(Marks : 50)
1. Answer any two of the following: 1x2=2
@I g6 Ao Teg mis ¢
a)  What is group dynamics?
¢l sifoszrel i e 2
b)  What is vertical mobility?

(SN

OET [ AbeTO] FICF qCeT ?

c) What is primary group?
AT (S8 Pl 02
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d) What is micro-sociology?
eI ANErOG FICF AT ¢
Answer any five of the following: 2x5=10

- #Hvfe amd Ted wie ¢

a)

b)

d)

g)

What do you mean by group behaviour?
(slidlore BbRel TS & @Rl

What 1is conflict theory of social

stratification?
AWiEs wa e afve o Fie

Write two differences between primary group

and secondary group.

A= P @R el (o e i PN
T 9|

What is social stratification?
Afes we e <@ es [ @mie
What is reference group?
TS=E ol I AT 2

What is positivism?

73 2

What is economic sociology?

T ANEroe FIF I 2
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Answer any three of the following:

6x3=18

@I foals 2 Tex wie 3

a)

b)

d)

Answer any two of the following:

Discuss the characteristics of group life.
CoI! G it aRiErefe Sebal <9 |

Write a note on social system.

e g ST 9 Bl @9

Write a note on conflict theory of social

stratification.

AN BIRMER @i ed vred TAF aIb
Bl @14 |

Discuss the characteristics of secondary

group.
e oD ARSI STETne 79

Discuss the relationship between sociology

and political science.

INCSGH A ABRRIETI T1F SAEH 59 |
10x2=20

@I 9o e Ted wie ¢

a)

Write a note on social class as a form of

social stratification.

Awifes waleer 479 e awiEs
T Tl @Fo Tl @9
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b)

d)

Answer any two of the following:

Discuss the differences between closed and

open society.
T% 8 Y& AEH ANLFet SNEADA 54|

Write a note on functional theory of social

stratification.

Aifers TR (et vred 8o « sl SRl
@2 |

Analyse Gouldner's idea of Applied
Sociology.

(SIFEIE ere Teered el yioes! Ko
34|

GROUP-B

el - 2
(Marks : 50)
1x2=2

- 75 AeE Ted vl ¢

a)

b)

What is ascribed status?
Siciere s w2
What is society?

e 52
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d)

Answer any five of the following:

What is joint family?

(@ ARRIT FIF &2

What is Role conflict?

ofil 7 {5

2x5=10

- “hols 2ead Teg wie ¢

a)

b)

d)

g)

What do you mean by primitive communism?

SN AW IFce T @R
What is famly?

ST FF w0

What is clan?

wlfs (oSt S T2

What is competition?

gfsriforel it e 2
What is social control?
A fwEel S et 2
What is socialization?

AN FIE A0 2

What are the differences between Society and

Association?

NG € AT ey ALy 5 Fe
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7.  Answer any three of the following:

6x3=18

@I fon® araa Ted wie ¢

a)

b)

8.  Answer any two of the following:

Write a note on the concept of primitive

communism.
ST AR QAT TAT GF O @Y |

Discuss the types of marriage in Indian

society.

TigeR AWite ebfere fAaias ffey awiqaef
SIGITI Sl

Discuss the characteristics of joint family in

India.
ClFeRl (@19 AfEIEE @Bl o 9|
Discuss the factors of political socialization.

Fretied AMETIFAET FReTST SNETHA F4 |

Discuss the differences between conflict and

competition.
wa G SIS Wy wf1LF el SiEtb 59|
10x2=20

- 75 AeE Ted vl ¢

a)

81(A)

Discuss the different ways of acquiring mate.

IS SEREd Awfowi [ ©f SETeal 59|
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b)

d)

Discuss after Freud, the different stages of

socialization.

FRC-UF T SEE ANfERwaer [T
B S |

Discuss different informal agencies of social

control.

Aifee Fagew wiRfaam mawelE TF
IICETIoAT 4 |

Write a note on disintegration of joint family

in India.

RS ({12 AR O T G0 Il @Y |

[7]



